H W3 5t b
i

H
=

W%
HE o

4 H
" i
g ol

LEZAI7OVHRIE

mHE S

SM7E1A
PERGERR LEEE -  2EERREEM




ISR LEEEITOVHRIE

% g & - BARTE Bifg B 2 B ® & wmzE
EEIEH 65, 520, 852
MEIRR 5,827,137 + 16,822, 604 24,499,540
HBRERE (BD) 1,849,799 + 5 103,639 + 723,498 7,676,936
HBEREEL 1,849,799
HBRERE (%) 65,431,277 x 7.80% ((7.57%) x 1.03) 5,103, 639
BISBERER 63,464,752 x 1.14% 723,498
RISEER 73,078,213 x 23.02% ((21.92%) x 1.05) 16, 822, 604
TR 67,370,651 + 22,649, 741 90, 020, 392
—REEEZS 89,900,817 x 17.33% (17.33% x 1.00) — 6,163 15,573, 648
LRitRaE & 89,900,817 x 0. 04% 35, 960
TSt 90,020,392 + 15,573,648 + 35, 960 105, 630, 000
HBEREHELE 105, 630, 000 x 10.00% 10, 563, 000
FRIZR 105, 630, 000 + 10, 563, 000 116, 193, 000




BERNRE LEESITOVHBTE
& i1 B - Bik<HiE BT % = i * #H B
EEIFRE 65, 520, 852
&R 65, 520, 852
HERER (T TBY) 65, 520, 852
BEYMRELI 10, 610, 327
SRR T 1,012, 065
1 SEmM T (1) (&) 1U9)-+t=30cm% #& Z 40cmA T 50. 00 6, 365. 00 318, 250
m
2 SHERRUIER (2) (RRE) 1U9)-+t=40cm% #& Z 50cmiA T 70. 00 9, 290. 00 650, 300
m
3 SHERRYIER (3) (RRE) FA77Wht=5cm 50. 00 870. 3 43,515
m
SEMREUET 7,129, 286
4 109)-MVREERRBERE - TEHI - BA (B /) 0hY- MR 1, 800. 00 1,975. 00 3, 555, 000
(T RE) "2
5 SHEEMRBREY () TAI7hMEEEE AR 40. 00 287.3 11, 492
m2
6 FREHk (1) (AR WH)-+ (B ER) 722.00 1,124 811,528
m3
1 8 (2) (&) TAI7hb 2.00 2,529 5,058
m3
8 F&IEA (1) (BR) Y-+ (B ) 722.00 272.8 196, 961
m3
9 %A (2) (BR) TAI7hb 2.00 272.8 545
m3
10 HEHk (3) (BRRE) Y-+ (B ) 722.00 3,517 2,539,274
m3
11 35EHk (4) (BRRD FAITIME 2.00 4,714 9,428
m3

s

2,040, 400




HERNRE LEESITOVHBTE
£ [ g - BIKTE B4 B 2 B i - W E

12 55 (1) WhY)-+ (B 1, 697. 00 1, 200. 00 2,036, 400
t

13 &4y (2) FAI7IME 4.00 1, 000. 00 4,000
t

SHEERREVET 292,430

14 5REER (1) ("R BEHEIR (HEK) 1.00 205, 200. 00 205, 200
m3

15 ;5iEE (2) (BRRE) BEIEIRE (BEK) 1.00 87,230.00 87,230
m3

HIRAS 15, 000

16 SERALS (3) BEIEIRE (HEK) 1.00 15, 000. 00 15, 000
m3

r-7" MBET 121, 046

17 SHEERRYIMT (1) A IU9Y- ML E=3. bem 60. 00 1,942.00 116, 520
m

18 EHEZERRIEN (2) (FRFE) TAI7 W MEREEL=3. bem 2.00 1,942.00 3,884
m

19 FEFERR (1) (R 0. 01 39, 360. 00 393
m3

20 FEAEMIEW (2) (BRE) 0.01 24, 995.00 249
m3

TR0 100

21 BRasy RBREEED 0. 01 10, 000. 00 100
m3

ZEHELT 314,875

fEEIT 313,908

22 1EHI (RRR) 280. 00 387.2 108, 416
m3

23 TRYEER () AL 280. 00 605 169, 400
m3

24 i (RR) 280. 00 128.9 36, 092
m3




BERNRE EEEBITOCHRTE
& (i1 B - Bk Bif % 2 {if ® B W OE

BRRELTT 967

25 BREREE T (RR) AL 2.00 483.6 967
m3

THEBET 40, 782, 168

BREET 1,842,567

26 BREREERZ (M) 1,820.00 109. 2 198, 744
m2

27 BRE& (WA ftRERAE M40 1,820.00 752.10 1,368, 822
m2

28 A (D Rt AERE M40 310. 00 282.1 87, 451
m3

29 TRYEE (RRE) Rt AERE M40 310. 00 605 187, 550
m3

aVY ) — MEET 32,738,920

30 avy ) — Rk (1) (WA BhHI+5. 0-2. 5-40 t=42cm 1,130. 00 16, 770. 00 18, 950, 100
m2

31 avy ) — MR (2) (WD BhHI+5. 0-2. 5-40 t=38cm 170. 00 15, 550. 00 2,643,500
m2

32 avy ) — R (3) (WA BhH(+5. 0-2. 5-40 t=38~42cm 170. 00 16, 080. 00 2,733,600
m2

33 avy)— EER (4) (WA BhH(+5. 0-2. 5-40 t=36~38cm 170. 00 15, 230. 00 2,589,100
m2

34 oy ) — ER (5) (D BH(+5. 0-2. 5-40 t=36~42cm 60. 00 15, 920. 00 955, 200
m2

35 avy ) — R (6) (TR BhH(+5. 0-2. 5-40 t=36~55cm 60. 00 16, 730. 00 1,003, 800
m2

36 avy ) — MRk (7) (RAED BhH(+5. 0-2. 5-40 t=36~38cm 60. 00 15, 070. 00 904, 200
m2

37 - IS v FREEEE 1.00 600, 000. 00 600, 000
Fae

38 T34 La— b+ (R PK-3 1.0L/m2 1, 800. 00 135. 60 244, 080
m2

39 #E (WMD) 5.00 108, 000. 00 540, 000
=]




HERNRE LEESITOVHBTE
£ [ g - BIKTE B4 B 2 B i & # W E

40 i8R (B 1.00 502, 000. 00 502, 000
[=]

4 SHEBARRREBRE (R 180. 00 3, 653.00 657, 540
m

42 BEHBEHRE RME) 300. 00 1,386. 00 415, 800
m

BT 4,674,872

43 B E 1.00 3, 180, 856. 00 3, 180, 856
=%

44 I B (JT-1) (&) 90. 00 2,528.00 227,520
m

45 T B (JT-2) (&) 60. 00 2,528.00 151, 680
m

46 I B (JT-3) () 90. 00 1,780. 00 160, 200
m

47 I B (JT-7) (&) 8.00 2,528.00 20, 224
m

48 I B (JT-8) (M) 8.00 2,528.00 20, 224
m

49 I B (JT-9) () 8.00 2,528.00 20, 224
m

50 &L B#h (JT-10) () 8.00 2,528.00 20, 224
m

51 Unfs B #h (JT-4) () 180. 00 3,774.00 679, 320
m

52 UnfE B #h (JT-5) () 30. 00 3, 408. 00 102, 240
m

53 3k B i (JT-6) () 30. 00 3,072.00 92,160
m

BE 1,185,570

54 < v MEE (RRE) 1, 800. 00 572. 40 1,030, 320
m2

55 EZ— &% (") 1, 800. 00 86. 25 155, 250
m2

FRAI7ILEGET 160,913




BERNRE EEEBITOCHRTE
& (i1 B - Bk Bifis = B i ) W OE

56 *&E () FRET X2 (20) 37.00 4,349 160, 913
m2

BRAET 179, 326

57 TR (1) ("M BEVSvv¥y—3> RC-40 33.00 3,069 101,277
m2

58 TREERME (2) ("M BEVSvv¥y—35> RC-40 5. 00 1,768 8, 840
m2

59 E[EEkAE (W) FERERAE M40 37.00 1,439 53, 243
m2

60 A (1) (M) BEVSvv¥y—3> RC-40 9.00 282. 1 2,538
m3

61 A (2) (&R HTIARRAE M40 9.00 282.1 2,538
m3

62 TEYEEW (1) M) BEVSvv¥y—3> RC-40 9.00 605 5, 445
m3

63 TEYEFEW (2) (&E) HTIARRAE M40 9.00 605 5,445
m3

RATISAZE T 9,827, 400

~—x2iJT 9,827, 400

64 HFE 1.00 338, 400. 00 338, 400
Fae

66 v —F U RE (1) %M 1.00 1,034, 000. 00 1,034, 000
Fae

66 v—F% U RE (2) %M 1.00 1,034, 000. 00 1,034, 000
Fae

67 T —x2UHEI (1) KM 1.00 2,488, 000. 00 2,488, 000
Fae

68 v —X 2 UHET (2) %M 1.00 4,933, 000. 00 4,933,000
Fae

EET 8, 849

EET 8, 849

69 5RZ T (RRE) £HEE 2.00 1, 659. 00 3,318
m2




BERAREK EBEEITOVHRTE
% R R - KT B B = B ] W E

70 RZ T (RMED BEOFiE 2.00 1,153. 00 2,306
m2

N EFWwAT T () 30.00 107. 50 3,225
m2

HKBEYMT 1,087, 801

LT 470, 4717

72 RIE (RR) 50. 00 2,942 147,100
m3

13 BREL (1) (&M AL 10. 00 5,375 53, 750
m3

74 BRL (2) (KRB BEVSvv¥y—35> RC-40 6.00 7.342.00 44, 052
m3

75 BRL (3) (&) B 10.00 9,242.00 92, 420
m3

76 ER L 4) (&) PAR RS (80mmELT) 3.00 9,242.00 21,726
m3

77 32 (1) (&R AL, REW 30. 00 282.1 8,463
m3

78 A (2) (&) BEYISvPvy—7Y RC40, thAARES 10. 00 282.1 2,821
m3

79 LRPEER (1) () RAL 50. 00 1,270 63, 500
m3

80 THEIEMW (2) (M) AL, REW 30. 00 605 18,150
m3

81 THEEW () (M) BEVSvYvy—7Y RC40, thAARES 10. 00 605 6, 050
m3

82 Eih (RfH) 50. 00 128.9 6, 445
m3

BT 165, 270

83 ME!MHE/KE IR () av9Y-+(21-8-40) t=15cm 0.20 49,920 9,984
m3

84 -+ TSV FREREE 1.00 150, 000. 00 150, 000
®

85 E#% (A 0.10 12,870 1,287
m2




BERNRE EEEBITOCHRTE
% (i1 B - Bk B = {if ) W OE

86 ELHEHM (WA BEVSvv¥—3> RC-40 2.00 1,867 3,734
m2

87 #&iA (AR 0.30 282. 1 84
m3

88 T RYEER (RHE) 0.30 605 181
m3

HFET 446, 544

89 FEEHKE (1) (&) WPo200 HAHE 33.00 5,438 179, 454
m

90 EERHEKE (2) M) VP$200 EAE 58. 00 4, 605 267, 090
m

Hk#t - v oR—ILT 5,510

91 BREERS/KMEIR (RMAD EIVEEILZIL 0.02 146, 800 2,936
m3

92 E ¥ (M) 0.20 12,870 2,574
m2

T—JLEH T 918, 962

EELTT 139, 544

93 FRiE (1) (&) T 1.00 2,942 2,942
m3

94 FR1E (2) (&) MERERAE M40 5.00 14, 950 74,750
m3

95 R L (1) (&M REL 0.20 5,542 1,108
m3

96 BRL (2) &M FERERAE M40 3.00 13, 690. 00 41,070
m3

97 BRL () (&M #A (nmLAT) 1.00 14, 090. 00 14,090
m3

98 T EEEW (1) (M) T 1.00 1,270 1,270
m3

99 +HEEW (2) M) MERERAE M40 2.00 1,270 2,540
m3

100 T RYZEHE (3) (RRE) #A (GnmLAT) 2.00 605 1,210
m3




BERNRE EEEBITOCHRTE
& (i1 B - Bk Bif = {if ® B W OE
101 #&iA () #A (5nmLLT) 2.00 282. 1 564
m3
fTRERET 779,418
102 &aZ=hREIBr (1) (&R 4.00 65, 560. 00 262, 240
=
103 7° HvAMEREERE (TR 700 x 700 x 300 4.00 61,015.00 244, 060
=
104 EMEEEIE (RME) 2.00 711.6 1,423
m2
105 A & RE (R ) SGP32A B LEL 59.00 4,605. 00 271,695
m
BEYEZET 17, 386
VY — M EEMEELT 16, 786
106 BEMEY ChL Ah. EFaH)—+ 0.30 51, 780. 00 15,534
m3
107 %A (TRFE) avy ) — (&) 0.30 336.3 100
m3
108 #E ik (R FH) avy ) — b &) 0.30 1,178 353
m3
109 #&iA (2) (BRE) avy ) — b &) 0.30 272.8 81
m3
110 #EHE (2) (RRED avy ) — b &) 0.30 2,396 718
m3
B 600
111 5% avyy—k~ (EH) 0. 60 1, 000. 00 600
t
R&T 1,953, 084
R&T 1,953, 084
112 XBFBERE (KR REBEFEERE 1.00 828, 100. 00 828, 100
=
113 HHERES 1.00 454, 484. 00 454, 484
=




HERNARE EEZTETIOLHATE
£ f R - KR B = B O{f EE =

114 EATFIEHEIRE (RE) HAiz 48 (250 x 250) 1.00 338, 100. 00 338, 100
=%

115 EAFFIEHE TR (&) HAiz 48 (250 x 250) 1.00 332, 400. 00 332, 400
=%

HBEREE FEL) 1,849, 799

EiRE 110, 538

116 REMEER (RME) 9.00 9, 282. 00 83,538
t

17 REMZEOEAHRE LE (&) 9.00 3,000. 00 27,000
t

®tkE 38, 861

118 RE R E (&R ®t 10. 00 387.2 3,872
m3

119 Ry (1) (RRE) ®t 10. 00 605 6, 050
m3

120 &2 (BRE) ®t 10. 00 228.9 2,289
m3

121 LRbEEHR (2) (BRR) ®t 10. 00 2, 665 26, 650
m3

TRMS 30, 000

122 LRbLSY bl 10. 00 3, 000. 00 30, 000
m3

R E 929, 100

123 #&3E (WA 1.00 641, 700. 00 641, 700
=%

124 &5 (AR 1.00 287, 400. 00 287, 400
=%

BRifEEEE 741, 300

125 FWDERZ (& FH) 3.00 103, 100. 00 309, 300
Hh=

126 FARE A RER () 2.00 216, 000. 00 432, 000
Hh=




B@R-EI/\vr—> REEEITOUHBTE

HS5: 1
ZF ;- FERRTIET (1) (M) 2v9Y-+=30cm#% 8 X 40cmLL T 100m b
2 L7 g - BIRTE By H = B O{f 4 ) W= & &
LEEXE
A 2.000 35, 580. 00 71,160
avo)—rhvA
B 1.020 60, 270. 00 61,475
avo)—rAvAi
B 1.020 61, 170.00 62, 393
avhy—rhvs  (TL—K) B14a40F
pod 1.020 52, 600. 00 53, 652
avhy—rhvs  (TL—K) #‘224F
pod 0. 700 84, 500. 00 59, 150
avhy—rhvs  (TL—K) BI04 VF
pod 0. 740 123, 000. 00 91, 020
avhy—rhvs  (TL—K) #I8AVTF
pod 0.730 176, 000. 00 128, 480
RME (E+FH0)
= 56. 000 195, 028. 00 109, 170
& H) e85 : 100.00m 6, 365. 00 636, 500

FEERSMEE T L
FIH—IEHIE : HY [1.6690] BRI ROHIFI(C & B4 - 1L




BfR-BEI/ \vr—>

EEZEEITOVHRIE

&5 2
LR SHEMRYINT (2) (M) 3v))-M=40cmE R Z 50emEL T 100m% b
% 7 L - IRTiE BAf H 2 B @ %5 = & &
LERER
A 3.000 35, 580. 00 106, 740
avy)y—rhvui
=] 0. 926 60, 270. 00 55, 810
avy)y—rhvui
=] 0. 926 61, 170. 00 56, 643
avy)y—brhvui
=] 0. 926 61, 970. 00 57,384
avyy—rhvEs  (TL—F) F1440F
" 1.020 52, 600. 00 53, 652
avyy—rhvEg  (TL—F) #2240F
" 0. 700 84, 500. 00 59, 150
avoy—rhvE  (TL—F) B30AVF
" 0. 740 123, 000. 00 91, 020
avoy—rhvEg  (TL—F) ‘’38AVF
" 0.730 176, 000. 00 128, 480
avyy—rhvEg  (TL—F) #4640F
" 0.580 285, 000. 00 165, 300
EME (E+F50)
= 56. 000 276, 577. 00 154, 821
& &t YE%427 : 100.00m 9, 290. 00 929, 000
FIEEERSMEIE AT L
FE—IEWHE : HY [1.6690] EEREAEIFIIC K ZHWIE - B L
E5:3
B SHERRUIET (3) (RFE)  7A77Mht=bcm Tm%y
% 3 1R - AR R BAf % B =i £ = B &
SRR BT (3) (RAE) FA770hht=5cm
m 1. 000 870.3 870.3
& &t fE£EEH - 1.00m 870.3 870.3

FIHRERSMEE L
FHE—FEMIE : HY [1.6690]

BrfERIHIRIC &k HHIE - 1L




BfR-BEI/ \vr—>

EEZEEITOVHRIE

x5 :4
B - ))-MEZERRRERE - JEEI - A (B (A av))- MR 100m 24y
% o g - BIRTE BT H = B ff £ W= " =
TR—AgtHEEE
A 0.313 42,010. 00 13,149
LEEXE
A 0.979 35, 580. 00 34,832
KETL—h 7 L—HHEX1300kg#k
B 0. 667 91, 800. 00 61,230
avy ) — MR BAOME735~850mm FH51549~981kN (56~
100t) B 0.667 92, 400. 00 61,630
Ny ERY (P 0—S8) 2R - FAHRE(E2R) 1L
#50. 8m3 (FF#50. 6m3) B 0.313 72, 820. 00 22,792
HME (E+FEDD)
= 3.000 132, 003. 00 3,867
& it YEZERES : 100.00m 2 1,975.00 197, 500
TIEERESMEIE AL
FHE—IEWE - HY [1.6690] EERAOFIRIIC R HHWIE - &L
55
B . SHEMEER (R TAI7MMEREERR Tm2#yY
2 Lo R - BAIRTE BAGL #H = B i o = " &
FHLERRBRRE (R D TAI7 I MEHEE R
m2 1.000 287.3 287.3
= it 1E%HEH : 1.00m 2 287.3 287.3
FEEEEE L
FHE—IEMIE - HY [1.6690] BERABOBIRIIC R BHHIE - L
F5:6
25 BB () GRED)  )I-H(E/) Tm334yY
% 7 g - BIRTE BT H = B ff £ W= " =
FRIEHE (1) (&R Y-+ (H /)
m3 1.000 1,124 1,124
& &t {287 : 1.00m 3 1,124 1,124

FHEERSMEE T L
FH—IEHIE : HY [1.6690]

BRI ROHIFI(C & B4 - 1L




HEK-wT/ \v7r—> BEBESITOVHRTE
&#5:7
B BB () ('R TAIRME Tm334yY
% 7 3R - ks B3 H 2 i £ = & &
BOEE (2) (RRE) FAI7IWE
m3 1. 000 2,529 2,529
& &t E%425 :1.00m 3 2,529 2,529
FIEEERSMEIE AT L
FE—IEWHE : HY [1.6690] EEREAEIFIIC K ZHWIE - B L
S :8
B R () (BRE)  2v9Y-MER) Tm3%KY
£ i R - TR~k BAf % B i %5 = s &=
RIEA (1) (BR) H)-+ ()
m 3 1. 000 272.8 272.8
& it YEZREH - 1.00m 3 272.8 272.8
FHEEESMEE: 2L
HIE—IEWIE - HY [1.6690] BERIRFIFC & BAMIE - 1L
F#5:9
B FREA Q) (BRE)  TA77Mb Tm334yY
% 7 3R - ks B3 H 2 i £ = & &
RiEA (2) (BRE) TA77b
m3 1. 000 272.8 272.8
& &t E%425 :1.00m 3 272.8 272.8
FIEEERSMEIE AT L
FE—IEMHE : HY [1.6690] EEREAEIFIIC K ZHWIE - B L
H5:10
B BB (3) (B  2vU-M(EHR) Tm3%KY
£ i R - TR~k BAf % B i %5 = s &=
SEHE (3) (BR) H)-+ ()
m 3 1. 000 3,517 3,517
& it EZREH - 1.00m 3 3,517 3,517

FIHRERSMEE L
FHE—EHE: HY [

. 6690]

BrfEIRIHIRIC &k HHIE - 1L




BfR-BEI/ \vr—>

EEZEEITOVHRIE

&5 1
A BOEHR (4) (BRE)  7A770b Tm3&HY
2 L7 g - BIRTE By H = B O{f £ W= & &
B (4) (BRE) TAI7IE
m3 1.000 4,714 4,714
& & {E%85 : 1.00m 3 4,714 4,714
FISEFESMEE T L
FH—IEWE : HY [1.6690] BRI AIFIRIC K BMIE : AL
H5 12
B LS (1) - E) 100t 24y
2 Lo R - BAKTiE By H = B ff o W= " &
noeE avy -+ &)
t 100. 000 1,200. 00 120, 000
& it 1EZHES - 100.00 t 1,200. 00 120, 000
FEEESEE L
FIE—IEME : HY [1.6690] EERAIFIFOIC K BMIE - AL
513
B RS (2)  TAITNE 100t &Y
2 L7 g - BIRTE By H = B O{f £ W= & &
nosE TAI7W %
t 100. 000 1,000. 00 100, 000
= it {EZ£8E7 : 100.00 t 1,000. 00 100, 000
FISEFESMEE T L
FHE—IEWE : HY [1.6690] BRI AIFIRIC K BMIE : AL
H5: 14
& FEEMR() RE) BECER HEK) 100m3 &Y (Im3)
2 Lo R - BAKTiE By H = B ff o W= " &
5B &R 8tEH
=] 2. 000 102, 600. 00 205, 200
& it 1E%HEH : 1.00m 3 205, 200. 00 205, 200

FIHRERSMEE L
FHE—IEWE - HY [1.6690]

BrfEIRIHIRIC &k HHIE - 1L




BfR-BEI/ \vr—>

&S5 :15

&% FREERK () (BRE) EFEIRE HEK)

EEZEEITOVHRIE

100m3&Y (Im3)

2 L7 g - BIRTE By H = {i B W= " =
BIER kB &R 8tE
B 1.000 87, 230. 00 87,230
& it 1E%8EH : 1.00m 3 87, 230. 00 87, 230
FISEFESMEE T L
FH—IEWE : HY [1.6690] BRI AIFIRIC K BMIE : AL
H5: 16
& BREAS (3)  BEGERE GEK) 100m 34 Y
£ 5 R - BAKTiE By H = il ) W= " &
noeE BEIEE
m 3 100. 000 15, 000. 00 1, 500, 000
= it 1E%HEH : 100.00m 3 15, 000. 00 1, 500, 000
FEEESEE L
FIE—IEME : HY [1.6690] FFRIRHIRIIC & BHHIE - %L
&S5 17
AFE - FERRTIET (1) M) 2av)Y-MEEZEt=3. bem 100m% Y
2 L7 g - BIRTE By H = {i ) W= " =
INBE RS A hyh- 20cmik EEEEMRAELT
B 1.000 12, 600. 00 12, 600
ah)-Mys-7" b=+ 124y Etgbmm #zXF
® 0. 600 87, 200. 00 52,320
R VP
L 18. 000 155. 00 2,790
R IEXE
A 1.000 40, 960. 00 40, 960
LEEXE
A 2.000 35, 580. 00 71,160
HHE LELTITHT H58%+ 4HTAD
= 1.000 14, 370. 00 14, 370
& it e85 : 100.00m 1,942.00 194, 200

FHEERSMEE T L
FH—IEHIE : HY [1.6690]

BRI ROHIFI(C & B4 - 1L




BfR-BEI/ \vr—>

EEZEEITOVHRIE

%518
B FHERRUIMET (2) (RFE)  7A77MMERZEL=3. Sem 100m% Y
2 L7 g - BIRTE By H = {i ) W= " =
INBE RS A hyh- 20cmik EEEEMRAELT
=] 1. 000 12, 600. 00 12, 600
ah)-Mys-7" b=+ 124y Etgbmm #zXF
pod 0. 600 87, 200. 00 52,320
R VP
L 18. 000 155. 00 2,790
HRIEXE
A 1. 000 40, 960. 00 40, 960
LEEXE
A 2.000 35, 580. 00 71,160
(H#) BFRERE LEETIZHT 5 8%+ 44THD
= 1. 000 14, 370. 00 14, 370
& H) e85 : 100.00m 1,942.00 194, 200
FISEFRESMEE T L
FHE—IEWE - HY [1.6690] BRI AIFIRIC K BMIE : AL
H5:19
B BEAER (1) (") 100m3&HY (2m3)
£ r R - KT By H = il o = " &
AR 2t7&
A 1. 000 3, 850. 00 3, 850
EELF (—H%)
A 1. 000 36, 100. 00 36, 100
ey B
L 21.000 143. 00 3,003
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